ADDENDUM #4

Question:

The answers to the two auto liability insurance questions are conflicting. One
answer states a $1 million CSL with a $2 million aggregate. The other answer
states $1 million CSL with a $4 million umbrella.

Response:

We would require a S1IM combined single limit
(CSL) auto policy with a S4M umbrella. On the
original RFP we should have clarified a S1M
CSL under the automobile section.

The umbrella would sit over both the auto and the
general liability.

The S1M per occurrence and S2M aggregate
statement in the email below would be more in line
with a General Liability coverage form. There is
typically not an aggregate limit on a commercial
automobile policy.

Question:

Please clarify the requirement



Response:
The limits listed are identical to the limits that we

have as a district, so the expectation is for the
vendor to have similar coverage.



